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State the learning outcomes/skills that
the learners will practise.
Instruct the step-by-step method to
solve/learn a skill.
Let each learner independently
practise by solving a similar sum or
applying a skill.
Make sure that all learners are able to
solve the problems independently.
Provide help individually to learners
during the practice.

Understand the sum to solve/skill to
develop while the teacher is instructing.
Follow the same instructions to solve
the problems independently.
Ask questions to clarify doubts.

Discuss number names of 4-digit numbers as
shown in the textbook.

Ask the learners to work through the examples
independently, checking the solution in the
textbook.

Closely look into how each learner is solving and
correct their mistakes if any.

Conclude by saying, ‘We have learnt to write the
number names of 4-digit numbers.’ 

Enables learning and skill-building through
repetitive practice to ensure that the
learners practise independently
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Plan for the type of activity based on the learning 
outcome.
Arrange the resources, if required.
Arrange the classroom so that it is convenient to
conduct the activity.
State the purpose of the activity by writing it on
the blackboard.
Ensure all learners participate and have hands-on
experience while conducting the activity.
Summarise the activity by clearly stating what
the learners did, what they observed and the
learning from it.

Organise for the activity as per the instructions.
Understand the rules and the purpose of the
activity.
Participate in the activity and note down the
observations/results.
Relate the activity to the concept to be learnt.

To mark the angles in the 
different letters of the alphabet; name the angles 
and their types

• Before class, arrange for chart paper and
markers. Ask the learners to bring their
protractors.

• Use an example from the textbook (different
angles marked on letters of the alphabet).

• Ask learners to make charts showing different
letters of the alphabet.

• Then, instruct learners to:

show the angles made by the vertices in
each letter,

measure the angles,

name the types of angles.

 

Helps learners explore and learn by designing
role plays, dramas, games, songs and so on
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Decide the type of concrete material for a
particular concept. For example, counting
blocks, place value board, geoboard, etc.
Based on the concrete material, group the
learners. (Consider: How many items are
available? How much space is needed?)
Distribute the concrete material to groups,
pairs or individual learners.
Tell students how to use the material. E.g.,
measure, move, count, etc.
Help them make the connection to the
mathematical concept involved.
Conclude/Summarise by connecting the
concrete material to the expected learning
outcomes.

Use the concrete material as per the teacher’s
instructions.
Make the connection between concrete
material and abstract concepts.
Ask relevant questions to develop a better
understanding.

To measure and learn—sum of 
the 3 interior angles of a triangle equals 180 
degrees. 

• Prepare cutouts of different types of triangles in
paper/chart for every leaner and protractor.

• Distribute cutouts of triangles, one for every
learner. Include different types (acute, obtuse
and right triangles).

• Group learners into pairs.

• Ask each learner to measure all the angles of
one triangle using a protractor and then find
the sum of all three angles.

• Let each learner in the pair share the measures
of the angle and their sum.

• To conclude, use an example from the textbook
to discuss and explain how the sum of all the
interior angles of a triangle is 180 degrees.

Makes learning engaging by using objects and
teaching materials to get a hands-on
understanding of a concept
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Introduce the topic with a motivating question or
idea (For example, read the ‘I Think’ section of
TB).
Relate it to prior knowledge.
Instruct clearly about the concept/skill that you
want the learners to know/understand, i.e., what
you are doing and why you are doing it.
Ensure the instructions are explained step-by-
step.
Ask questions in between to check for
understanding.
Set the pace of the instruction to ensure all
learners understand.
After the direct instruction, ask learners to
independently demonstrate the skills or solve the
sums using the steps you have shown.

Be alert and listen to the teacher’s explicit
instructions.
Write down the steps.
When in doubt, ask questions.
Solve/Answer questions.

• Use a geoboard to make figures as shown in
the textbook. Show how angles are formed
by two rays.

• Draw the same figures on the blackboard
and show how to name an angle.

• Draw several intersecting line segments as
given in the textbook on the blackboard and
show the different angles made by the lines
at the intersection.

• Show how to name and identify the
different angles.

• Explain step by step how to draw and label
the angles and how to identify the type of
an angle.

• Have learners draw three intersecting lines
and label all the angles.

Uses straightforward and explicit instructions, usually
to teach a specific skill or introduce a new concept
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Plan the learning for the entire class or in
groups.
Play the lead role in the class.
Introduce the skill/concept or the sum to be
solved.
Ensure the learners follow the instructions
and repeat the teacher actions as directed.
Be aware of learners who need more support
and focus on them. 
To conclude, call a few learners to the
blackboard and make them repeat the
skill/concept learnt.

Listen to the instructions and follow the teacher.
Repeat the action as instructed by the teacher.
Answer questions.

Use your arm to show the different types of
angles given in the textbook—acute, right,
obtuse and straight angles.

Let each learner repeat the angle that you have
shown using their arms.

Now make each angle using your arm, and
name the type of angle. Let each learner repeat
it after you.

Bring a few learners to the front. Guide them
to make the angles using their arms and name
them.

Conclude by drawing different types of angles,
marking the rays and also naming them.

Let each learner note them down in their
books.

Facilitates and guides the learners to try new
skills with teacher support; crucial for lower age
groups
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Ask questions to check previous
knowledge.
Introduce a new concept by asking
questions/sharing an
example/describing a scenario.
Initiate a discussion among learners
either in groups, pairs or individually.
Capture learners’ responses on the
blackboard using appropriate graphic
organisers, where applicable.
Conclude the discussion by arriving at
the expected learning outcome.

Respond to the questions.
Have doubts clarified.

Display a calendar page for the month of March in
class.

Explore why the different patterns emerge in the
calendar through an interactive discussion:

Ask how many Fridays occur in a month with 31
days.

Show how Saturday appears every 7 days. It is a
growing pattern with the rule of ‘adding 7’.

Ask the learners explain how that pattern is
made.

Show a few patterns made by the dates as shown in
the textbook.

Have learners discuss the rules followed by the
different patterns.

Conclude the discussion by categorising the patterns
that were observed.

Engages learners in a discussion to share
their inputs
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Frame the specific learning outcome for a
concept/problem to be solved/tasks to be
completed for peer learning.
Group learners as a team or a pair with
complementary strengths.
Tell the groups about the expected outcome,
what to do, and the time frame in which it has to
be completed.
Supervise and moderate the discussions/work in
the groups.
Ensure that learners have learnt from their peers
by asking questions, helping them write, or
solving the problems in the notebooks or on the
blackboard.

Understand the question to be solved and the
learner’s role in peer learning.
Contribute according to the learner’s individual
strength in the group.
Help all the members to understand and learn.
Present information as asked in the notebook/on
the blackboard to demonstrate learning.

Group the learners in pairs.

Let each of them read and discuss the table
of geometrical features of shapes from the
textbook.

Ask all learners to make a table of their own
using different shapes in the first column but
without labels.

Let each of the learners share the tables with
their partners.

Each partner must complete the table,
including labelling vertices and equal sides,
shape names, number of sides and names of
sides.

Conclude the learning by telling learners
about labelling and naming shapes.

 

Encourages learners to interact with each other and
learn from each other
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Frame different types of questions at various
stages of the teaching-learning process.
Ask questions at different intervals during the
teaching-learning process.
Based on the responses, pace the teaching-
learning process.
Change the questioning technique to build
curiosity and add variety.
Avoid yes/no type of questions.
Use quiz as a questioning technique at the end
of the chapter to know how much the learners
have learnt.

Be attentive to the instructions and the questions.
Answer only if the learner knows the answer.
Participate in the quiz.

Show some everyday objects such as a
book, a scale, the top of a table and so on.

Ask the learners to tell the basic shape of
each of the objects shown.

Question the learners about each shape:

the number of sides

the number of vertices

the number of diagonals

Ask the questions individually to every
learner.

Record the answers on the blackboard for
every shape.

Summarise by telling learners about the
shapes and their properties.

Asks questions during the teaching-learning process
to prompt learners to think about what is being
taught and also assess the learning levels
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Make a list of the main points for a
concept, or the steps of the skill.
Alternatively, have learners make their
own list of main points.
Ensure the keywords and phrases are
highlighted.
Where applicable, use an appropriate
graphic organiser to present the
information.

Underline the keywords and phrases.
Revise the summarised points.
When needed, make a list of main
points.

• Recall the Roman numbers from 1 to 100.

• Recall the rules for writing these Roman numerals.

• Categorise these rules by clearly stating the character
and value of the Roman numeral. For example,
1 to 10.

• Show the difference between writing 4 (IV) and 6 (VI).
Subtract and add with reference to 5; similarly, apply
the same rule for 9 and 11 using 10 as a reference.

• Now, summarise the rules by stating the Roman values
for 1, 5, 10, 50, 100 and how the other numbers are
written applying the rule of adding and subtracting.

• Summarise using a mind map.

Presents the most important ideas in the
chapter/concept in short, often in the form
of a graphic organiser using keywords or
key phrases

 

 Descriptions provided for samples of teaching strategies may vary from the content in the 'Transactional Tip' section of the lesson plan. 
Teachers need to plan on the same lines.
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Grade 5 Maths 2 Part

Part Chapter
No. Chapter Name Concept

Number Concept Name Teaching
Days

Exam Syllabus

FA
Coverage

SA
Coverage

PA
Coverage

1 1 Shapes 1.1 Identify and Classify Angles 5 FA1 SA1 PA1

1 1 Shapes 1.2 Nets and Views of Solids 4 FA1 SA1 PA1

1 2 Patterns 2.1 Patterns in Rotation 4 FA1 SA1 PA1

1 2 Patterns 2.2 Patterns in Numbers 3 FA1 SA1 PA1

1 3 Large Numbers 3.1 Indian and International Systems of Numeration 6 FA1 SA1 PA1

1 3 Large Numbers 3.2 Roman Numerals 5 FA2 SA1 PA1

1 4 Addition and
Subtraction 4.1 Add and Subtract Large Numbers 3 FA2 SA1 PA1

1 5 Multiplication 5.1 Multiply Large Numbers 6 FA2 SA1 X

1 6 Division 6.1 Divide Large Numbers 7 FA2 SA1 X

1 6 Division 6.2 Factors and Multiples 6 X SA1 X

1 6 Division 6.3 H.C.F. and L.C.M. 6 X SA1 X

1 7 Time 7.1 Convert Time 3 X SA1 X

1 7 Time 7.2 Add and Subtract Time 3 X SA1 X

2 8 Money 8.1 Unitary Method in Money 3 FA3 SA2 PA2

2 9 Fractions - I 9.1 Equivalence of Fractions 3 FA3 SA2 PA2

2 9 Fractions - I 9.2 Fraction in its Lowest Terms 4 FA3 SA2 PA2

Notes: 
1) SA1 = MYA, SA2 = AA 
2) Please utilise available classroom time for practice on MathBuddy to provide additional and engaging maths practice to students. 
This will also facilitate their performance during assessment. Page 29



Grade 5 Maths 2 Part

Part Chapter
No. Chapter Name Concept

Number Concept Name Teaching
Days

Exam Syllabus

FA
Coverage

SA
Coverage

PA
Coverage

2 9 Fractions - I 9.3 Compare Unlike Fractions 3 FA3 SA2 PA2

2 9 Fractions - I 9.4 Add and Subtract Unlike Fractions FA3 SA2 PA2

2 10 Fractions - II 10.1 Add and Subtract Mixed Fractions 4 FA3 SA2 PA2

2 10 Fractions - II 10.2 Multiply Fractions 4 FA4 SA2 PA2

2 10 Fractions - II 10.3 Reciprocals of Fractions 4 FA4 SA2 PA2

2 11 Decimal - I 11.1 Like and Unlike Decimals 4 FA4 SA2 X

2 11 Decimal - I 11.2 Compare and Order Decimals 5 FA4 SA2 X

2 11 Decimal - I 11.3 Add and Subtract Decimals 5 FA4 SA2 X

2 12 Decimal - II 12.1 Multiply and Divide Decimals 5 X SA2 X

2 12 Decimal - II 12.2 Percentages 6 X SA2 X

2 13 Measurements 13.1 Perimeter, Area and Volume 5 X SA2 X

2 14 Data Handling 14.1 Circle Graphs 3 X SA2 X

4

Notes: 
1) SA1 = MYA, SA2 = AA 
2) Please utilise available classroom time for practice on MathBuddy to provide additional and engaging maths practice to students. 
This will also facilitate their performance during assessment. Page 30
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Assessment Blueprint - Maths - Beginner FA_20M

Ques on Source Summary
DIRECT Direct quesƟons from TB/WB
DIRECT PLUS DIRECT quesƟons with minor

changes.
MODIFIED DIRECT quesƟons with changes in

skill and/or quesƟon type
MODIFIED PLUS MODIFIED quesƟons with increased

difficulty
TWISTED NEP/BOARD quesƟon types based on

TB/WB content

Maths - Class 
Beginner Values

Section Name Section Heading Question Source
20M

No. of Questions Marks
A Multiple Choice Questions DirectPlus 2 2

Modified
B Very Short Answer Questions DirectPlus 5 5

Modified
C Short Answer Questions DirectPlus 1 2

Modified 2 4
D Long Answer Questions Modified 2 4
E Graphic Organisers Modified 1 3

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 13 20
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Assessment Blueprint - Maths - Beginner PA_40M
Maths - Class 

Beginner Values

Section Name Section Heading Question Source

40M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 3 3

B Very Short Answer Questions DirectPlus 7 7

C Short Answer Questions DirectPlus 4 8

Modified 1 2

D Graphic Organisers Modified 2 8

E Long Answer Questions Modified 6 12

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 23 40
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Assessment Blueprint - Maths - Beginner MYA/AA_40M
Maths - Class 

Beginner

Section Name Section Heading Question Source

Values

40M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 3 3

Modified 1 1

B Very Short Answer Questions DirectPlus 6 6

Modified 2 2

C Short Answer Questions DirectPlus 5 10

Modified 3 6

D Graphic Organisers Modified 1 4

E Long Answer Questions Modified 4 8

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 25 40
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Assessment Blueprint - Maths - Beginner MYA/AA_50M
Maths - Class 

Beginner

Section Name Section Heading Question Source

Values

50M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 5 5

B Very Short Answer Questions DirectPlus 9 9

C Short Answer Questions DirectPlus 5 10

Modified 1 2

D Graphic Organisers Modified 2 8

E Long Answer Questions Modified 8 16

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 30 50
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Assessment Blueprint - Maths - Beginner MYA/AA_80M
Maths - Class 

Beginner

Section Name Section Heading Question Source

Values

80M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 6 6

Modified 4 4

B Very Short Answer Questions DirectPlus 10 10

Modified 4 4

C Short Answer Questions DirectPlus 7 14

Modified 5 10

D Graphic Organisers Modified 3 12

E Long Answer Questions DirectPlus 2 4

Modified 4 8

ModifiedPlus 4 8

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 49 80
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Assessment Blueprint - Maths - Proficient FA_20M
Maths - Class 

Proficient Values

Section Name Section Heading Question Source

20M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 1 1

Modified 1 1

Twisted 1 2

B Very Short Answer Questions DirectPlus 2 2

Modified 2 2

C Short Answer Questions DirectPlus 1 2

Modified 1 2

D Long Answer Questions ModifiedPlus 4 8

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 13 20
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Assessment Blueprint - Maths - Proficient PA_40M
Maths - Class 

Proficient Values

Section Name Section Heading Question Source

40M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 1 1

Modified 2 2

ModifiedPlus 1 1

Twisted 1 4

B Very Short Answer Questions DirectPlus 2 2

Modified 5 5

ModifiedPlus 1 1

C Short Answer Questions DirectPlus 2 4

Modified 2 4

D Long Answer Questions DirectPlus 2 4

ModifiedPlus 6 12

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 25 40
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Assessment Blueprint - Maths - Proficient MYA/AA_40M
Maths - Class 

Proficient

Section Name Section Heading Question Source

Values

40M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 1 1

Modified 1 1

ModifiedPlus 2 2

Twisted 1 4

B Very Short Answer Questions DirectPlus 6 6

Modified 2 2

C Short Answer Questions DirectPlus 2 4

Modified 2 4

D Long Answer Questions Modified 3 4

ModifiedPlus 5 12

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 25 40
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Assessment Blueprint - Maths - Proficient MYA/AA_50M
Maths - Class 

Proficient

Section Name Section Heading Question Source

Values

50M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 3 3

Modified 1 1

Twisted 1 4

B Very Short Answer Questions DirectPlus 5 5

Modified 2 2

ModifiedPlus 1 1

C Short Answer Questions DirectPlus 3 6

Modified 3 6

ModifiedPlus 1 2

D Long Answer Questions Modified 3 8

ModifiedPlus 7 12

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 30 50
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Assessment Blueprint - Maths - Proficient MYA/AA_80M
Maths - Class 

Proficient

Section Name Section Heading Question Source

Values

80M

No. of Questions Marks

A Multiple Choice Questions DirectPlus 3 3

Modified 2 2

ModifiedPlus 1 1

Twisted 1 4

B Very Short Answer Questions DirectPlus 5 5

Modified 8 8

ModifiedPlus 1 1

C Short Answer Questions DirectPlus 6 12

Modified 7 14

ModifiedPlus 5 10

D Long Answer Questions Modified 4 8

ModifiedPlus 6 12

1. This exam blueprint is for reference only. Actual exam pattern may vary slightly.
2. In most cases, there is external choice for long answers type questions.

Grand Total 49 80
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Teaching Aids List (For Planning)
Type of Teaching

Aid Name of the Teaching Aid Concept Used in

Geoboard
chart of Angles 1.1: Identify and Classify Angles

3.1: Indian and International Systems of
Numeration

3.1: Indian and International Systems of
Numeration

Learners to bring protractor, scale, scissors 1.1: Identify and Classify Angles

Teacher to arrange

cut outs of different types of triangle, rubber
bands (for Geoboard) 1.1: Identify and Classify Angles

cut outs of shapes, nets of cubes, cuboids,
cylinders and cones, Glass, notebook 1.2: Nets and Views of Solids

cut outs from magazines of some symmetric and
asymmetric pictures and alphabets, playing cards,
cut out of a battery, pebbles/stones, calendar

2.1: Patterns in Rotation

Storyweaver
resource

How Old is Muttajji?
https://storyweaver.org.in/stories/4772 dum
dum a dum biryani

4.1: Add and Subtract Large Numbers

The Fascinating Fibonacci
https://storyweaver.org.in/stories/5619 the
fascinating fibonaccis

2.2: Patterns in Numbers

K�v�o�]�v��Resource

chart of Multiplication Table
chart of Solid Figures

5.1: Multiply Large Numbers
1.2: Nets and Views of Solids

Place Value Cards

Place Value Board
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Art Integrated Lesson Plans

Grade: Grade 5, FA 1

Subject: Mathematics

Concept: Identify and Classify Angles

Learning Outcome(s):
● Identifies different angles from the postures of yogasanas

● Classifies angles by making posters

Integrated Art Form(s):
● Roleplay

● Poster making

Materials Required:
Ice-Breaker: NA

Core Activity:

1) Chart papers

2) Colour pencils

3) A pencil

4) A ruler
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Art Integrated Lesson Plans

Resources (External References):
Ice-Breaker:

● Angles

Core Activity: NA

Time Needed:
Ice-Breaker: 20 min

Core Activity: 60 min

Ice-Breaker:

Summary: Play a video on angles and engage learners in identifying different angles from the postures in yogasanas.

Procedure:

Step 1:

● Inform the learners that they will be shown a video on angles.

● Play the video on angles and urge learners to pay attention to the different kinds of angles shown in the video.

● At the end of the video, ask learners to recall the names of the angles they saw on the video.

Step 2:

● Explain to the learners that yogasanas originated in India around 2nd to 4th century CE. Patanjali describes asanas as "a steady and

comfortable posture” used for pranayama and meditation leading to self-realization. The asanas were created at different times, a

few being ancient, some medieval, and a growing number in the recent times. Different schools of yoga, agree that asanas are best

practised with a well-rested body on an empty stomach after taking a bath. To sportspersons, asanas function as active stretching

exercises, helping to prevent injury to muscles.
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Art Integrated Lesson Plans

Ask learners if they know any yogasanas, and invite learners who know them to come forward and play the role of a yoga teacher. Instruct

the rest of the class to carefully observe the different asanas shown by the yoga teacher.

● Ask learners to identify the different angles formed during those yogasanas.

● Show learners the following pictures too and encourage them to identify the angles in each posture. Ensure participation of all the

learners in the activity.

Core Activity:

Summary: Facilitate a group activity where learners make a poster on the different types of angles that they have learnt.

Procedure:

● Divide the class into groups of five.
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Art Integrated Lesson Plans
● Provide each group with a chart paper, a pencil, a ruler and colour pencils.

● Instruct each group to work together and make a poster demonstrating different types of angles.

● Ask learners to make the posters with bright colours.

● Encourage all the learners to participate in the activity.

● Allow each group 45 minutes to make their posters.

● Guide the groups in their activity, if needed.

● Once the activity is completed, ask each group to present their posters to the class in the remaining 15 minutes.

● Conclude by asking the learners to talk about the types of angles in their posters.

Extension Activity:
Instruct the learners to identify and classify the angles in the letters of their mother tongue or regional language.

Assessment:
Use the Assessment Rubric given to evaluate the learner.

Conclusion:
These activities improve the creativity of the learners and enhance their understanding of the concept of angles and the different types of

angles.
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Art Integrated Lesson Plans

Suggested Rubric for Assessing Art Integrated Learning

P
A
R
A
M
E
T
E
R
S

LEVELS Proficient Evolving Beginner Pre-Beginner

RATING 4 3 2 1

Knowledge
Construction
and Expression

Demonstrates excellent use of
inquiry and higher order thinking
skills, and accurate
representation of arts standards.

Demonstrates good use of
inquiry and higher order thinking
skills and effective
representation of arts standards.

Demonstrates
moderate use of inquiry
and higher order thinking
skills and occasional
representation of arts
standards.

Demonstrates minimal use of inquiry
and higher order thinking skills and
little representation of arts standards.

Collaboration Participates proactively in
community building through
collaborative work, and always
communicates well within
team(s) and with the facilitator.

Participates actively in
community building through
collaborative work, and mostly
communicates within team(s)
and with the facilitator.

Participates
moderately in
community building
through collaborative
work, and occasionally
communicates within
team(s) and with the
facilitator.

Participates rarely in community
building through collaborative work, and
hardly communicates within team(s)
and with the facilitator.

Envisioning Engages proactively in rigorous
arts integration by embracing
change; has multiple perspectives
and takes adequate calculated
risks.

Engages actively in arts
integration by accepting change;
has some perspectives and takes
some calculated risks.

Engages moderately
in arts integration by
accepting few changes;
has few perspectives and
takes few calculated
risks.

Engages rarely in arts integration; has
minimal perspectives and hardly takes
risks.

Art and Content
Integration

Displays a clear connect between
the arts and learning outcomes.

Displays an acceptable connect
between the arts and learning
outcomes.

Displays a moderate
connect between the
arts and learning
outcomes.

Displays a rare connect between the
arts and learning outcomes.

Self-Assessment Demonstrates significantly
increased awareness of
relevance and purpose of the arts
integration process.

Demonstrates increased
awareness of relevance and
purpose of the arts integration
process.

Demonstrates
occasional awareness
of relevance and purpose
of the arts integration
process.

Demonstrates rare awareness of
relevance of the arts integration process.
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Art Integrated Lesson Plans

Grade: 5, FA 2

Subject: Mathematics

Concept: Add and Subtract Large Numbers

Learning Outcome(s):
● Adds and subtracts large numbers using flash cards and roleplay

Integrated Art Form(s):
● Roleplay

Materials Required:
Ice-Breaker:

1) Flash cards with large numbers (up to 8 digits)

Core Activity: NA

Resources (External References):
Ice-Breaker:

● Adding 8-digit numbers

Core Activity: NA
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Time Needed:
Ice-breaker: 20 min

Core Activity: 60 min

Ice-Breaker:
Summary: Show learners a video on adding large numbers to set the context for the activity.

Procedure:

Step 1:

● Inform learners that they are going to watch a video on adding large numbers.

● Instruct them to carefully observe the steps shown in the video.

● Play the video on adding 8-digit numbers to make the learners understand the method.

● Ask learners to remember the method.

Step 2:

● Provide each learner with a flash card of a large number.

● Instruct learners to pair up with their friends, and add and subtract the numbers on their cards.

● Ask learners to write the sum and the difference of their numbers in their notebooks.

Core Activity:
Summary: Facilitate a roleplay activity where learners apply their understanding of addition and subtraction of large numbers.

Procedure:

● Divide the class into two groups.

● Instruct a learner from each group to play the role of the sarpanch of a village.

● Ask the sarpanch in group 1 to write the number of children in their village on the blackboard.
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Art Integrated Lesson Plans
● Inform the learner that they should write a number of 7 to 8 digits.

● Instruct them to write the number of adults in their village on the blackboard as well.

● Inform the learner that this number should not be more than 8 digits.

● Ask all the learners in group 2 to find the total population of Group 1’s village.

● Next, ask the sarpanch in group 2 to write the total population of their village on the blackboard.

● Inform the learner that they should write a number with not more than 8 digits.

● Instruct them to also write the number of children in their village on the blackboard.

● Inform the learner that they should write a number with less than 8 digits.

● Ask all the learners in group 1 to find the number of adults in Group 2’s village.

● Encourage all the learners to participate in the activity.

Extension Activity:
Ask learners to find the population of their region in terms of number of males, females, children and then compute the total population.
They can take help of the internet.

Assessment:

Use the Assessment Rubric given to evaluate the learner.

Conclusion:

These activities help the learners to improve their skill of addition and subtraction of large numbers. They also induce an idea in the learners
about the demographics of their region.
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Art Integrated Lesson Plans

Suggested Rubric for Assessing Art Integrated Learning

P
A
R
A
M
E
T
E
R
S

LEVELS Proficient Evolving Beginner Pre-Beginner

RATING 4 3 2 1

Knowledge
Construction
and Expression

Demonstrates excellent use of
inquiry and higher order thinking
skills, and accurate
representation of arts standards.

Demonstrates good use of
inquiry and higher order thinking
skills and effective
representation of arts standards.

Demonstrates
moderate use of inquiry
and higher order thinking
skills and occasional
representation of arts
standards.

Demonstrates minimal use of inquiry
and higher order thinking skills and
little representation of arts standards.

Collaboration Participates proactively in
community building through
collaborative work, and always
communicates well within
team(s) and with the facilitator.

Participates actively in
community building through
collaborative work, and mostly
communicates within team(s)
and with the facilitator.

Participates
moderately in
community building
through collaborative
work, and occasionally
communicates within
team(s) and with the
facilitator.

Participates rarely in community
building through collaborative work, and
hardly communicates within team(s)
and with the facilitator.

Envisioning Engages proactively in rigorous
arts integration by embracing
change; has multiple perspectives
and takes adequate calculated
risks.

Engages actively in arts
integration by accepting change;
has some perspectives and takes
some calculated risks.

Engages moderately
in arts integration by
accepting few changes;
has few perspectives and
takes few calculated
risks.

Engages rarely in arts integration; has
minimal perspectives and hardly takes
risks.

Art and Content
Integration

Displays a clear connect between
the arts and learning outcomes.

Displays an acceptable connect
between the arts and learning
outcomes.

Displays a moderate
connect between the
arts and learning
outcomes.

Displays a rare connect between the
arts and learning outcomes.

Self-Assessment Demonstrates significantly
increased awareness of
relevance and purpose of the arts
integration process.

Demonstrates increased
awareness of relevance and
purpose of the arts integration
process.

Demonstrates
occasional awareness
of relevance and purpose
of the arts integration
process.

Demonstrates rare awareness of
relevance of the arts integration process.
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Art   Integrated   Lesson   Plans  

Grade:     5,   SA   1   

Subject:      Mathematics  

Concept:     Factors   and   Multiples  

Learning   Outcome(s): 
● Explores   the   factors   and   multiples   of   2-digit   numbers   through   bead   work

Integrated   Art   Form(s): 
● Bead   work

Materials   Required:  
Ice-Breaker:  

 1)  Multiplication   charts   of   numbers   1   to   12   as   shown   below.
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Art   Integrated   Lesson   Plans  

Core   Activity:  

1) Beads   of   different   colours

2) Paper   cups

Resources   (External   References):  
Ice-Breaker:   NA  

Core   Activity:  

● Factors   and   Multiples

Time   Needed:  
Ice-Breaker:   15   min   

Core   Activity:   70   min  

Ice-Breaker:  
Summary:    Inform   the   learners   that   they   will   be   finding    the   multiples   of   numbers   using   charts   of   multiplication.  

Procedure:  

● Divide   the   class   into   groups   of   5.

● Distribute   a   multiplication   chart   to   each   group .

● Write   5   different   numbers   for   each   group   on   the   blackboard.

● Inform   the   groups   that   they   have   to   find   any   5   multiples   of   each   number   assigned   to   them.

● Ask   learners   in   each   group   to   copy   the   set   of   numbers   given   to   their   group   in   their   notebooks.
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Art   Integrated   Lesson   Plans  
● Instruct   them   to   take   turns   to   write   the   multiples   of   the   numbers    using   the   multiplication   chart,    in   their   notebooks .

● Invite   learners   from   each   group   to   read   out   the   multiples   that   they   have   written   for   the   numbers   given   to   them.

● Ensure   that   all   learners   participate   in   the   activity.

● If   time   permits,   the   groups   can   take   up   other   sets   of   numbers   and   repeat   the   process.

Core   Activity:  
Summary:    Facilitate   a    group    activity    in   which   learners    find   out   the   factors   of   given   numbers   using   beads.  

Procedure:  

● Inform   learners   that   they   will   be   watching   a   video   on   factors   and   multiples.

● Play   the    video   on   factors   and   multiples .

● Ask   learners   to   observe   the   methods   of   finding   factors   and   multiples.

● Divide   the   class   into    groups   of   four   or   five.

● Divide   the   beads   into   different   quantities   for   the   groups.   For   example,   group   1   may   be   given   48   beads,   group   2   may   be   given   35   beads

and   so   on.

● Also,   distribute   some   paper   cups   among   the   groups.

● Ask    learners   to    divide   the   beads   in   equal   numbers   and   put   in   the   cups   to   see   if   the   beads   could   be   divided   in   equal   parts   or   if   any   bead

would   be   remaining.   For   example,   a   group   that   got   12   beads,   can   put   1   bead   each   in   12   cups   in   the   first   round.

● Ask   them   to   note   the   number   of   beads   in   each   cup   and   the   number   of   cups   used.   In   this   case,   they   have   to   note   the   numbers,   1   and   12.

● Instruct   learners   to   try   putting   the   beads   in   2s,   3s,   4s   and   so   on.

● Inform   learners   that   they   should    make   a   note    as   many   times   as   they   can   equally   distribute   all   the   beads   without   any   bead   being   left

over.   In   the   example   given   previously,   they   would   write   1,   12;   2,   6;   3,   4;   4,   3;   6,   2   and   12,1.

● Instruct   them   to   write   down    the   first   number   in   each   pair   of   beads   and   the   number   of   cups   used   in   each   case,    in   their   notebooks .

● Tell   them   that   these   numbers   give   us   all   the   factors   of   a   given   number.   In   this   example,   factors   of   12   are   1,   2,   3,   4,   6   and   12.
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Art   Integrated   Lesson   Plans  
● Instruct   learners   to   repeat   the   activity   with   the   other   numbers   for   more   practice.

● Encourage   all   learners   to   participate   in   the   activity.

Extension   Activity:  
Ask   learners   to   pick   some   random   dates   from   the   calendar   of   a   month,   and   mark   the   factors   and   multiples   of   those   numbers   within   the   same  

month.   Ask   them   to   identify   which   number   in   the   calendar   of   that   month   has   the   maximum   number   of   multiples   and   which   has   the   

maximum   number   of   factors.   

Assessment:  

Use   the   Assessment   Rubric   given   to   evaluate   the   learner.  

Conclusion:  
These   activities   help   learners   gather    experiential   learning    of    finding   factors   and   multiples   of   numbers.  
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Art   Integrated   Lesson   Plans   

Suggested   Rubric   for   Assessing   Art   Integrated   Learning  

P  
A  
R  
A  
M  
E  
T  
E  
R  
S  

LEVELS  Proficient  Evolving  Beginner  Pre-Beginner  
RATING  4  3  2  1  

Knowledge   
Construction   
and   Expression  

Demonstrates    excellent    use    of   
inquiry   and   higher   order   thinking   
skills,   and    accurate   
representation    of   arts   standards.  

Demonstrates     good    use   of   
inquiry   and   higher   order   thinking   
skills   and    effective   
representation    of   arts   standards.  

Demonstrates   
moderate    use   of   inquiry   
and   higher   order   thinking  
skills   and    occasional   
representation    of   arts   
standards.   

Demonstrates     minimal    use   of   inquiry   
and   higher   order   thinking   skills   and   
little     representation    of   arts   standards.  

Collaboration  Participates     proactively    in   
community   building   through   
collaborative   work,   and    always  
communicates    well   within   
team(s)   and   with   the   facilitator.  

Participates     actively    in   
community   building   through   
collaborative   work,   and    mostly   
communicates    within   team(s)  
and   with   the   facilitator.   

Participates   
moderately    in   
community   building   
through   collaborative   
work,   and    occasionally  
communicates    within   
team(s)   and   with   the   
facilitator.   

Participates   rarely    in   community   
building   through   collaborative   work,   and  
hardly   communicates    within   team(s)   
and   with   the   facilitator.   

Envisioning  Engages   proactively    in   rigorous  
arts   integration   by   embracing   
change;   has   multiple   perspectives   
and   takes    adequate   calculated   
risks .   

Engages   actively    in   arts   
integration   by   accepting   change;  
has   some   perspectives   and   takes   
some   calculated   risks .   

Engages     moderately   
in   arts   integration   by   
accepting   few   changes;   
has   few   perspectives   and  
takes    few   calculated   
risks .   

Engages     rarely    in   arts   integration;   has   
minimal   perspectives   and    hardly   takes  
risks .   

Art   and   Content  
Integration   

Displays   a    clear   connect    between  
the   arts   and   learning   outcomes.   

Displays   an    acceptable   connect  
between   the   arts   and   learning   
outcomes.   

Displays   a    moderate  
connect    between   the   
arts   and   learning   
outcomes.   

Displays   a    rare   connect    between   the  
arts   and   learning   outcomes.   

Self-Assessment  Demonstrates    significantly   
increased   awareness    of   
relevance   and   purpose   of   the   arts  
integration   process.   

Demonstrates    increased   
awareness    of   relevance   and   
purpose   of   the   arts   integration  
process.   

Demonstrates   
occasional   awareness  
of   relevance   and   purpose   
of   the   arts   integration   
process.   

Demonstrates    rare     awareness    of   
relevance   of   the   arts   integration   process.  
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NCF 2022 aims at achieving a holistic overall transformation of the teaching-learning process that will ensure an enjoyable, 
inclusive and positive overall learning experience. NCF 2022 asserts that the teacher is at the heart of the practice of education 
and is the torchbearer of the transformation it envisions for the Indian education system. It also re-emphasises the overall 
guiding principles of the NEP 2020, some of which include:  

a) achieving Foundational Literacy and Numeracy by all students by Grade 3,
b) emphasis on conceptual understanding rather than rote learning and learning for examinations,
c) development of 21st-century skills such as problem-solving, creativity, and critical thinking to encourage logical decision-
making and innovation
d) respect for diversity and respect for the local context in curriculum and pedagogy

Here we have outlined some additional pointers that are in alignment with NCF 2022 that we feel will support teachers of 
mathematics. 

What would you choose as your goal for maths teaching? 

(A) to complete the syllabus as per the book by the end of the year
(B) to ensure that learners perform to the best of their abilities in tests
(C) to ensure that learners are able to add, subtract, multiply and divide one-digit, two-digit, three-

digit, four-digit and five-digit numbers

Which option did you choose? Did you choose all of them? All of these options are parts of the larger goals of maths teaching. 
The National Curriculum Framework states that maths teaching should not focus on mathematical content but on mathematical 
learning environments, where learners are exposed to processes such as: 

Visualisation
Representation
Use of patterns
Mathematical communication
Estimation and approximation
Formal problem solving
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Making connections
Optimisation 
Reasoning and proof 

These are some keywords related to the larger goals of teaching mathematics. The ClassKlap Teacher 
Companion Books have been developed keeping in mind these larger goals. However, there are some broad 
principles of mathematics teaching as well, which will help you create an effective learning environment. Below 
are some of these principles: 

1)  Have learners repeat maths problems in their own words: This is an important exercise for Indian classrooms since English 
is not the mother tongue for most learners. Being able to rephrase word problems in their own words in English or their 
mother tongue is a great way to ensure that learners are engaging with the content. It also provides you, the teacher, 
insight into the comprehension level of your learners. 

2)  Error analysis: Correcting learners’ homework or classwork is actually an exciting opportunity for you to see trends in errors. 
Use that input for your next lesson to ensure that misconceptions keep getting clarified as you teach. 

3)  Summarise key points: Use the blackboard to put up the key points/facts/steps/formulas related to the concept you are 
teaching. Ideally, every lesson or concept should begin with a clearly defined objective and should end with you 
summarising the key points you want learners to remember. Guiding learners to repeat the key points in verbal or written 
form is an effective principle. 

4)  Make maths teaching concrete: Maths is all around us! It is the building block for nearly everything we do in our everyday 
lives.  Art, architecture, finance, engineering and even sports and music have maths as their basis. The more we are able 
to relate maths to life around us and make this otherwise abstract subject concrete, the more beneficial it is for learners. 
Do not leave any opportunity to provide concrete examples using objects (manipulatives) or to share concrete examples 
before proceeding to abstract concepts. NCF 2022 lays special emphasis on developing mathematical abstract ideas 
(concepts) through concrete experience [ELPS]. 

6)  Focus on fact fluency: Maths is all about remembering the rules and practising. Research proves that 
learners who are provided with the opportunity to practise maths, develop the skills necessary to solve 
complex maths problems. Helping learners develop pace in processing basic fundamental skills such 
as addition, subtraction, multiplication and division is extremely important. This can be easily achieved 
through games, quizzes, timed group competitions and activity-oriented teaching. 
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7)  Show concern for the performance of individual learners: Each learner is unique and may have different kinds of difficulties 
in learning.  It is important to remember and have faith that all learners can learn.  Showing faith in the learning abilities 
of all your learners, paying attention to their thought processes, making your classes interactive and taking everyone 
along through your teaching will certainly ensure success. 
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Q 1) Which were the four best performing 
areas/concepts for Term 1 as per your Teacher 
Companion Book?

1) ___________________________________________________

2) ___________________________________________________

3) ___________________________________________________

4) ___________________________________________________

Q 6) List at least five learners who 

you would like to particularly 

support based on inputs from 

the Teacher Companion 

Book.

1) ______________________________

2) ______________________________

3) ______________________________

4) ______________________________

5) ______________________________

Q 2) Which four areas/concepts were highlighted for 
improvement as per your Teacher Companion 
Book?

1) ___________________________________________________

2) ___________________________________________________

3) ___________________________________________________

4) ___________________________________________________

Q 3) Which transactional tips do you find most useful to remediate the 

areas/concepts highlighted for improvement?

Q 5) What other transactional tips do 

you plan on using in Term 2? 

Q 4) How many periods have you 

used to remediate 

areas/concepts highlighted in 

the Teacher Companion 

Book? 

QQQQQQQQQQQQQQQQQQ
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